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NC11 P3-16
2025-05-27 (Day 57)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

7000 -

6000

5000

4000

3000

2000 -

—&— ECO

WI ["FVOEC' | is missing

10

20

30

40

50




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-16_0
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P3-16

BYiE) | BRI (FD) | EHME (EH/HK) | XK PR

07:20 122 150.0 R5| TiHAe07:20 KEFERF (RAEHES)
07:55 122 150. 0 5| ThHBe07:55 KEIEF (KRAFZESE)
08:40 122 150.0 Be| ThiHHe08:40 RHEFEF (KAEZRER)
09:30 122 150.0 B5| THHA@09:30 KENFERF (RF1EREER)
10:10 122 150.0 Ag| FHA@10:10 KRENEF (KAHERKESE)
10:45 122 150.0 RS ThHA@10:45 KEIEF CGRAFER)
11:20 122 150.0 B5| THAe11:20 KRENFERF (RA1ERER)
11:55 122 150.0 RS FhHA@11:55 KENFEF (CRAfEEER)
12:25 122 150.0 RS ThHAe12:25 kENFEF (RAMHEEER)
12:55 122 150.0 RS FiHRe12:55 KREEF (GREAERSE)
13:25 122 150.0 RS FhHA@13:25 KENFEF (RAfEEER)
14:00 122 150.0 Be| ThiHHe14:00 REEF (KAEZRE)
14:35 122 150.0 B5| TiHfe14:35 KENFEF (RAEREE)
15:10 122 150.0 R5| TiHAe15:10 KRHEF (RAEHS)
15:50 122 150.0 Be| ThiHfe15:50 REEF (KAERE)
16:40 122 150.0 R5| FiHA@16:40 KREFEF (KREAEESR)
23t+]1952.0 (167%) 2400. 0 3 WUFHKEC: 2080.0, PH: 6.0

[EKEC 6722.0 K&, EILFAKECAE&idEER
FHERECE (2227.0 vs 6722.0) 145




FRV (ml plant-1)

ET (ml/hr/plant)

P3-16_0, Day=57 (2025-05-27)
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', 'PPFD_obs’] is missing

30 1

25 -

20 A

" 'To_obs'] is missing

15

80 -

60 -

"RHo_obs’] is missin

—— RH Warning: col ['RH obs’,

0.0 0.2 0.4 0.6 0.8 1.0



hour

—_ a a a e e S S
o O A W W NN = O O ©

© 00 N NN O O O ©

100

o o
o o
I I

80

- 60

- 40

§_



P3-16

AriE) | BRI (D) | EHME (EH/HK) | XK ERR

07:15 163 150. 0 B {Rige07:15 KEPEF (KAFZESE)
07:50 163 150.0 Ag| 1Ri%@07:50 KENFEF (KRAEEES)
08:25 163 150.0 B5| {Ri%Z@08:25 KENFEFF (RF1EREEE)
09:00 163 150.0 R5| 1Ri%@09:00 KRHEIEF (RAEHS)
09:40 163 150.0 Ag| 1Ri%@09:40 KENFEF (KRAEEES)
10:15 163 150.0 (B =| {Ri&e10:15 KEIEF (RAKESE)
10:50 163 150.0 |Z=| 1RiR@10:50 KENFEF (RAFBERSE)
11:25 163 150.0 Rg| 1Ri%e11:25 KENEF (CRAEES)
12:00 163 150.0 Be| Ri%012:00 REFEF (KRAEZRRE)
12:35 163 150.0 R5| 1Rige12:35 RHERF (RAEHS)
13:10 163 150.0 Rg| 1Ri%e13:10 KENEF CGRAEES)
13:45 163 150.0 Bg| 1Ri%e13:45 KEEF (CRAEEES)
14:25 163 150.0 B[ Eige14:25 RHMEF (FRAEKR)
15:20 163 150.0 5| {BRi80@15:20 RENFEF (REFREEE)
16:20 163 150.0 Bg| 1Ri%016:20 KENEF (KAEES)
23] 2445.0 (15)%) 2250. 0 329333 %EC: 2080.0, PH: 6.0

large discrepency for begining water status (389:62.0), set to 389 ml.

[BI/ZEC 6128.0 K75, EIMARECAEA&IMIEE R
1Bl RECE (2220.0 vs 6128.0) 3/




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=56 (2025-05-26)

ET (ml/hr/plant)
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P3-16

BYiE) | BRI (FD) | EHME (EH/HK) | XK R

07:10 163 150.0 el {Bi%e07:10 REIEF (REEE®R)
07:45 163 150.0 Be| 1BRi%@07:45 RHEFEF (KAEZRE)
08:20 163 150.0 Be| {Ri%@08:20 RIFEF (KAEZRER)
09:00 163 150.0 R5| 1Ri%@09:00 KRHEFERF (RAEHES)
09:45 163 150.0 B 1Ri&e09:45 KENFEF (RAEREE)
10:20 163 150.0 Be| {Ri%@10:20 RHEF (KAEZRR)
10:55 163 150.0 B5| 1Ri%@10:55 KRHFEF (RAEHS)
11:30 163 150.0 S| 1BRi%e11:30 REIEF (REERSE)
12:05 163 150.0 B Rige12:05 kEIEFE CGRAFER)
12:40 163 150.0 RE| 1BRi%e12:40 REEF (KEAEESE)
13:15 163 150.0 BE| fRi%e13:15 RHEF (KEAHEKSE)
13:50 163 150.0 fg| {RiZ@13:50 KENFESF (RFA1EREE)
14:25 163 150.0 B5| 1RiR014:25 KRENFEF (RA1ERER)
15:05 163 150.0 R5| 1Ri%e15:05 KRHIEF (RAEHS)
15:45 163 150.0 Bg| {RiZ@15:45 KENFESF (RAERSE)
16:35 163 150.0 Be| Ri%016:35 RHAMIEF (KREAEZRER)
23t 2608.0 (16:%) 2400. 0 329353 %EC: 2080.0, PH: 6.0

large discrepency for begining water status (344:170.0), set to 344 ml.

RER 3 B RECHIR SR L.

I [ERECE (2240. 0 vs 4955.0) it 5

RER SR HEREC/PH{ES L, 1

RESMIARELR IR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=55 (2025-05-25)
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Warning: lcol [FVI',| "FVO’'] missing
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P3-16

BYiE) | GEBIRTIK (D) | EBE (EA/#) | XS ERE

08:10 163 150.0 BE|  {BRi%@08:10 FRENFEF (FREAEZEE)
08:55 163 150.0 B5| Ri%e08:55 KRHEIERF (RAEEHES)
09:50 163 150.0 Be| {Ri%@09:50 REFEF (KFAEZRE)
10:35 163 150.0 BE|  1BRi%@10:35 KREIEF (REEZRHE)
11:20 163 150.0 B5| 1RiR011:20 KREFEF (RATEREE)
12:05 163 150.0 fg| {Ri012:05 KRENFESF (RA1EREE)
12:50 163 150.0 BE| 1BRi%e12:50 KREIEF (REEZEE)
13:35 163 150.0 el 1Ri%e13:35 RHEF (REAEZEHE)
14:20 163 150.0 fg| 1RiZ014:20 KENFESF (RATEREE)
15:15 163 150.0 S| Rige15:15 KEIEFE CGRAFER)
16:25 163 150.0 f5| 1Ri%e16:25 KHERF (RAEHS)
23+]1793.0 (11)%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0
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HEEIHECE (2243.0 vs 3782.0) 15
RERSERHHEREC/PHIE R, AIAESIMAERR R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=54 (2025-05-24)

1.0

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
1143

0.8 A
1070

0.6 1
0.4
0.2 -
0.0

Warning: lcol [FVI',| "FVO’'] missing

o

0

1500

- 1000

- 500
00

0

150 === mmmmmmm e m e

100 A

— ME $30

maxM 1
- 28

- 26 El

a1
o
1

- 24

22

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.0

]
Bylnit; @57 01:47: ET=1453 Fg=1800.0 Ro=190.0

200

- 2000

el

100 A

UL

- 1000

0 1 3 4 5 6 7 10 11 12 13 17

21 22 23

E3
B

ES
5]

=
B

E3
B

E3
B

BB | B B |k | BB [K]|HE

E3
B

E3
B

ES
5]

200

ByEt @D54 19:09: ET=1656 Fg=1650.0 Ro=nan

- 2000

100 A

- 1000

22
0| 1] 2 4 | 5 7 ] 8] 9

10 11 12 13 14 15 16 17

21

22 23

ES
5]

=
B

E3
B

E3
B

NG BB BB BB 5 | B | B8

E3
B

E3
B

ES
5]

200 !
ByWoFvi @D57 01:47: ET=1320 Fg=1650.0 Ro=394.0

- 2000

1111

100 A

2—2

- 1000

1.0

10 11 12 13 14 15 18 19 20

21 22 23

E3
B

E3
B

ES =

B

E3
B

=3

E3
B

B

E3
B

ES
5]

=
B

EZNESS

0.8

E3
B

E3
B

ES
5]

0.6

0.4+

0.2~

1508 3

1000

500 A

| 4
| _obs
PPFD_obs

RH
RH_obs
RHo_obs

80 -

60

40 -

VPD

hour

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



hour

105 -

:10 -

:00

145

:10

:10

:10

125

:35

100

:00 -

80

- 60

- 40

20

&% "/é y S




P3-16

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR ERE

07:00 163 150.0 |Z=| 1RiB@07:00 KENFEF (RAFEESE)
07:55 163 150.0 (& =| {Ri&e07:55 KEFEF (RFAKRESE)
08:50 163 150.0 (& =| {Ri&@08:50 KENFEF (RAATEEE)
09:45 163 150.0 |Z=| 1Ri%009:45 KREIEF (FEAEZEESE)
11:10 163 150.0 (& =| {Rig&e11:10 KHEF (RAKESE)
12:10 163 150.0 (B =| {Ri&e12:10 KEEF (RAKESE)
13:10 163 150.0 PR 1Ri%@13:10 KEFERF (RAEEE)
14:25 163 150. 0 FA| 1BRike14:25 REIFREF (REERES)
15:35 163 150.0 FA| {Ri%@15:35 KREFEF (RATREES)
21t 1467.0 (97%) 1350.0 3 WUHKEC: 2080.0, PH: 6.0

large discrepency for begining water status (350:141.0), set to 350 ml.
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